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(1) x(t) = Cycost + Cysint + %sint,
y(t) = —Cysint + Cycost + %simtjL %cost
(2) z(t) =Ce ' +t—2,  y(t) = §e§t+t—1
(3) x(t) = Cre™ + Coet/? + ge_t — 5t —2,
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y(t) = —Cre™ 4 22?4 Ze7t — 3¢
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(4) x(t) = e #(Cy cost + Cysint) + 1—7th + 3 sint,
(t) = < (C) — Co)cost+ (Ch + Co)sint b — =2 4 3 cost — Lgin
y(t) = —— 1 5) COS 1 + C3) sin € T cost— o sin
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(5) z(t) = Cre* + Cye ™ — get, y(t) = Cre* — 3Coe™% — 2¢',
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2(t) = Cze® — Cre® + gCge’Zt + 2¢
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6) x(t) = Cre ™ + St — "t + t)=Ch— e 4 3 = T2y ot
6 s =Ce 1o =20 T = Qe Lo Sy Ty
3

2(t) = —2C e + 3t — 3



